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1 fdlus dgk fd ̂ ^euq"; ,d lkekftd izk.kh gS**\

d- dkWEV

[k- ,fjLVksVy

x- IysVks

?k- dkyZ ekDlZ

2 lekt'kkL= 'kCn dh mRifr fdl o"kZ gqbZ\

d- 1978

[k- 1829

x- 1839

?k- 1818

3 ^^lekt'kkL= lkekftd fØ;k ds O;k[;kRed le> dk ,d 

foKku gSA** lekt'kkL= dh bl le> ls fdlus O;k[;k dh\

d- Vh ikjlUl

[k- eSd vkboj vkSj ist

x- bZ nq[khZe

?k- eSDl csoj

4 buesa ls dkSu lkekftdj.k dk vfHkdj.k ugha gS\

d- ifjokj

[k- fo|ky;

x- gemez leqg

?k- ehfM;k

5 ,d laLFkk dk fuekZ.k fdlls gksrk gS\

d- vfHkusrk vkSj leqgksa ls

[k- fu;eksa vkSj izfØ;kvksa ls

x- ewY;ksa vkSj fu;eksa ls

?k- mijksDr lHkh

6 fuEu esa ls dkSu [kqys lkekftd Lrjhdj.k dk lwpd gS\

d- uLy

[k- tkfr

x- oxZ

?k- /keZ

SECTION- A

1 “Man is a social animal.” Who said so?

a. Comte 

b. Aristotle 

c. Plato 

d. Karl Marx.

2 The term sociology is coined in the year:

a. 1798

b. 1829. 

c. 1839 

d. 1818

3 “Sociology is a Science which attempts an 

interpretative understanding of social 

action.” Who defined Sociology in this 

manner?

a. T. Parsons

b. MacIver and Page

c. E. Durkheim

d. Max Weber

4 Which one of the following is not an agency of 

socialization?

a. Family

b. School

c. Peer - Group

d. Media

5 An institution is composed of _______.

a. Actors and Groups

b. Rules and procedures  

c. Values and norms

d. All

6 Which among the following is the indicator of 

open stratification system?

a. Ethnicity 

b. Caste

c. Class 

d. Religion

2.
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7 Name the control of society over individual.

a. Custom 

b. Social control 

c. State 

d. Sanction

8 The most fundamental term in sociology is 

...............................

a. Group 

b. Society 

c. Individual 

d. Social relation

9 Studies of social interaction, groups etc. 

belong to ........................... sociology.

a. Urban

b. Macro 

c. Applied 

d. Micro

10 A number of people who share common 

characteristics are known as ........................

a. Association 

b. Categories 

c. Aggregates 

d. Groups

11 ....................... are relatively stable structures 

which meet the basic social needs of people.

a. Groups 

b. Interactions 

c. Institutions 

d. Roles

12 Caste status is an example of ................... 

status.

a. Ascribed 

b. Achieved 

c. General 

d. Social

7 O;fDr ds Åij lekt dk fu;a=.k fdlls gksrk gS\

d- izFkk

[k- lekftd fu;a=.k

x- jkT;

?k- ekun.M

8 lekt'kkL= esa lcls ekSfyd 'kCn --------------- gSA

d- leqg

[k- lekt

x- O;fDr

?k- lkekftd lacU/k

9 lekftd laca/kksa dk v/;;u lekt'kkL= dh fdl 'kk[kk ds 

varxZr vkrk gS\

d- uxjh;

[k- c`gr

x- O;ogkfjd

?k- lw{e

10 dqN yksx ftuesa ,d tSlh fo'ks"krk;sa ikbZ tkrh gksa] mUgsa D;k 

dgrs gSa\

d- laLFkk

[k- Js.kh

x- ,df=r

?k- leqg

11- ---------- rqyukRed :i ls fLFkj lajpuk;as gksrh gSa tks yksxksa 

dh vk/kkjHkwr lkekftd vko';drkvksa dks iwjk djrh gSaA

d- leqg

[k- var% lEcU/k

x- laLFkk;sa

?k- Hkwfedk;sa

12 tkfr fLFkfr dkSu lh fLFkfr dk mnkgj.k gS\

d- iznÙk ¼tUetkr½

[k- izkIr fd;k gqvk ¼vftZr½

x- lkekU;

?k- lkekftd
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13 ......................represents the most superficial 

manifestation of culture.

a. Symbols 

b. Rituals 

c. Values 

d. Norms

14 Who called sociology as 'social physics'?

a. Durkhiem   

b. Comte  

c. Marx    

d. Webar

15 Which one of the following is an economic 

institution?

a. Property    

b. Credit     

c. Bank     

d. All of the above

13 --------- laLd`fr dh lcls lrgh vfHkO;fDr dks n'kkZrk gSA

d- izrhd

[k- vuq"Bku ¼jLesa½

x- ewY;

x- ekun.M

14 lekt'kkL= dks lkekftd Hkksfrdh fdlus dgk\

d- nq[khZe

[k- dkWEV

x- ekDlZ

?k- oscj

15-  fuEu esa ls dkSu ,s vkfFkZd laLFkku gS\

d- lEifr

[k- ØsfMV ¼tek /ku½

x- cSad

?k- mijksDr lHkh
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16 lajpuk -------- ds fcuk O;FkZ gSA

d- Hkwfedk

[k- vkns'k

x- dk;Z

?k- fLFkfr

17 fLFkfr vkSj Hkwfedk--------- ds nks ewyHkwr vax gS

d- lkekftd lajpuk

[k- fØ;k

x- varfØ;k

x- fu;a=.k

18 ^^lkekftd fofue; fl)kar** dks fdlus izfrikfnr fd;k\

d- th- gksekal

[k- th-,p- ehM

x- xkWQeSu

?k- ihVj cyM

19 O;fDr ds iz;kl ds vk/kkj ij lkekftd fLFkfr dks D;k dgrs 

gS\

d- izkIr dh gqbZ ¼vftZr½

[k- tUetkr ¼iznÙk½

x- izfrHkk

?k- mijksDr esa ls dksbZ ugha

20 tkfr fLFkfr-------------- fLFkfr dk ,d mnkgj.k gSA

d- tUetkr ¼iznÙk½

[k- izkIr dh gqbZ

x- lkekU;

?k- izfrHkk

21 ^^tkfr ,d cUn oxZ gS** ;g fdlus dgk\

d- ;ksxsUnz flag

[k- enu

x- Mh-,u- etqenkj

?k- ,e-,u- Jhfuokl

SECTION B

16 Structure is useless without __________.

a. Role 

b. Order 

c. Function 

d. Status 

17 Status and role are two building blocks of 

social _________.

a. Social Structure 

b. Action 

c. Interaction

d.  Control

18 Social exchange theory was introduced by 

_____________.

a. G. Homans 

b. G. H. Mead

c. Goffman

d. Peter Blau

19 Social status based on an individual's effort.

a. Achieved 

b. Ascribed  

c. Merit 

d. None of the above

20 Caste status is an example of ____________ 

status.

a. Ascribed 

b. Achieved  

c. General 

d. Merit

21 'Caste is known is closed classes' who said 

this?

a. Yogendra Singh

b. Madan

c. D.N. Majumdar

d. M. N. Srinivas
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22 Who write the book “Principle of Sociology”?

a. V. Pareto

b. Karl Marx

c. Herbert Spencer

d. Max Weber

23 Who coined the term 'Sanskritization'

a. M.N. Srinivas

b. S.C. Dube

c. Yogendra Singh

d. Premi

24 Which among the following is not ascribed 

status? 

a. Knowledge 

b. Age 

c. Sex 

d.  Caste

25 The term gender stratification refers to 

stratifications between.. A.

a. Sexes 

b.  Generations 

c. Income groups 

d.  Racial groups

26 Which of the following are forms of social 

stratification? 

a. Income groups 

b. Landlords and tenants 

c. Caste and class 

d. Racial group

27 The main factor of social change is.... 

a. Cultural pluralism 

b. Foreign contacts 

c. Outstanding leadership 

d. All of these

22 ^^fizfliy vkWQ lksf'k;ksyksth** iqLrd ds ys[kd dkSu gS\

d- oh- ikjsVks

[k- dkyZ ekDlZ

x- gcZVZ lisalj

?k- eSDl oscj

23 laLdfrdj.k ¼Sanskritization½ 'kCn dh mRifr fdlus 

dh \

d- ,e-,u Jh fuokl

[k- ,l- lh- nqcs

x- ;ksxsUnz flag

?k- izheh

24 fuEu esa ls dkSu iznÙk ¼tUe ls r; gksus okyh½ fLFkfr ugha gS\

d- Kkku

[k- vk;q

x- fyax

?k- tkfr

25 fyax Lrjhdj.k dk vFkZ gS----------- ds chp Lrjhdj.k

d- fyax

[k- ihf<;ksa

x- vk; leqgksa

?k- iztkrh; leqgksa

26 fuEu esa ls dkSu lkekftd Lrjhdj.k dk Lo:i gS\

d- vk; leqg

[k- Hkw&Lokeh rFkk fdjk;snkj

x- tkfr rFkk oxZ

?k- iztkrh; leqg

27 lkekftd ifjoZru dk eq[; dkjd-------------------- gSA

d- lkaLd`frd cgqyokn

[k- fons'kh lEidZ

x- mRd`"V usr`Ro

?k- mijksDr lHkh
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28 Among the following which does not indicate 

status? 

a. Bharat Ratna 

b.  Labourer 

c. The title of knighthood 

d. Use of prefix 'Pandit'

29 What are the parts of social structure? 

a. Communities 

b. Roles and sub-groups

c. Institutions and associations 

d. Groups and associations

30 Which is not the social role in the following? 

a. A  priest performing a ceremony 

b. A politician preaching the cult of violence

c. A lawyer preparing his witness

d. An actor involved in an act of violence on

the screen

28 fuEu esa ls dkSu fLFkfr dk lwpd ugha g\

d- Hkkjr jRu

[k- Jfed

x- jktk dh mikf/k

?k- ^iafMr* milxZ dk iz;ksx

29 lkekftd lajpuk ds vax D;k gS\

d- leqnk;

[k- Hkwfedk;sa vkSj mi&lewg

x- laLFkk;sa vkSj laxBu

?k- leqg vkSj laxBu

30 fuEu esa ls dkSu lkekftd Hkwfedk ugha gS\

d- ,d iqjksfgr tks vuq"Bku djokrk gSA

[k- ,d jktusrk tks fgalk dks c<+kok nsrk gSA

x- ,d odhy tks vius xokg dks rS;kj djrk gSA

?k- ,d vfHkusrk tks inZs ij fgalk ds n`"; esa dke djrk gSA
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SECTION C

31 Marriage with in same caste and class is 

called.

a. Endogamy    

b. Exogamy  

c. Hypergamy 

d. Sagotra

32 Divorce Implies

a. Husbands rights

b. Wife's Rights

c. Privileges of entire party

d. Breakdown of the marriage

33 Which is not an endogamous marriage?

a. Marriage with in gorta

b. Marriage with in the spinda

c. The inter-caste marriage

d. The intra-caste marriage

34 The head of the joint family is 

a. The elder living female

b. The youngest child

c. A mythical ancestor

d. The elder living male

35 Woman of higher caste marrying a lower 

caste man denoted

a. Anuloma 

b. Pratiloma

c. Endogamy

d. Exogamy

36 An agrarian society is associated with………..

a. Agriculture 

b. Domestification of animals

c. Both (a) and (b)

d. Neither (a) and (b)

¥ÙéÖæ» - ¹

31 ,d tkfr vkSj oxZ ds vUnj fd;s x;s fookg dks dgrs gSaA

d- Lotkfr; fookg

[k- fctkfr; fookg

x- vuqykse fookg

?k- lxks= fookg

32 fookg foPNsn ¼rykd½ dk vFkZ gSA

d- ifr ds vf/kdkj

[k- iRuh ds vf/kdkj

x- ifr iRuh nksuksa ds fo'ks"kkf/kdkj

?k- fookg dk VwVuk

33 fuEu esa ls dkSu ltkrh; fookg ugha gS\

d- xks= ds vUnj fookg

[k- lfi.M ds vUnj fookg

x- vUrtkZrh; fookg

?k- vUr% tkrh; fookg

34 la;qDr ifjokj dk eqf[k;k dkSu gksrk gS\

d- thfor lcls cMh efgyk

[k- lcls NksVk cPpk

x- dfYir iwoZt

?k- lcls cM+k thfor iq:"k

35 Åaph tkfr dh efgyk rFkk NksVh tkfr ds iq:"k esa gq;s fookg 

dks D;k dgrs gSa\

d- vuqykse fookg

[k- izfrykse fookg

x- Lotkrh; fookg

?k- czfg fookg

36 d`"kd lekt ------------------ ls laEcaf/kr gSA

d- d`f"k

[k- tkuojksa dk ?kjsyqdj.k

x- ¼d½ vkSj ¼[k½ nksuksa

?k- ¼d½ vkSj ¼[k½ nksuksa esa ls dksbZ ugha
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37 The Jajmani system is an expression of the 

interdependence of different…….

a. Classes

b. Elite group

c. Castes

d. 1Feudal estates

38 Which one of the following is not an element 

of rural community?

a. We-feeling

b. Cultural diversity

c. Territory

d. Self-sufficiency

'

39 The Hindu Jajmani System' given by

a. W.H. Wiser

b. Redfield

c. K.R. Manhas

d. R.C David

40 How many Varnas are In Indian Society?

a.  6

b. 5 

c. 4 

d. 3

41 Largest component of internal migration in 

India is: 

a. rural urban migration 

b. urban rural migration 

c. marriage migration 

d. rural migration

42 In Indian constitution __________ regional 

languages are recognized? 

a. 18 

b. 20 

c. 21 

d. 22

37 ttekuh O;oLFkk fofHkUu----------- dh vUrjfuHkZjrk 

dks n'kkZrk gSA

d- oxksZa 

[k- dqyhu oxksZa

x- tkfr;ksa

?k- lkearh fj;klrksa

38 fuEu esa ls dkSu lk xzkeh.k leqnk; dk rRo ugha gS\

d- ge dh Hkkouk

[k- lkaLd`frd fofo/krk

x- HkkSxksfyd {ks=

?k- vkRe fuHkZjrk

39 ^^fgUnq ttekuh O;oLFkk** dh ckr fdlus dh \

d- MCy;w ,p- okbtj

[k- jsMQhYM

x- ds- vkj- eugkl

?k- vkj-lh- MsfoM

40 Hkkjrh; lekt esa fdrus o.kZ gSa \

d- 6

[k- 5

x- 4

?k- 3

41 Hkkjr ds vkarfjd izokl dk lcls cM+k ?kVd dkSu lk gS\

d- xzkeh.k uxjh; izokl

[k- uxjh; xzkeh.k izokl

x- fookg izokl

?k- xzkeh.k izokl

42 Hkkjrh; lafo/kku esa------------ {ks=h; Hkk"kkkvsa dks ekU;rk 

izkIr gSA

d- 18

[k- 20

x- 21

?k- 22
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43 The most populous state of India is

a. West Bengal 

b. Kerala

c. Uttar Pradesh 

d. Bihar

44 Name the state having the highest 

percentage of literacy level: 

a. Kerala 

b. Maharashtra 

c. Punjab 

d. West Bengal.

45 Who is the father of “Demography”?

a. Doubleday

b. Malthus

c. Faucalt

d. Derrida

43 Hkkjr dk lcls vf/kd tula[;k okyk jkT; dkSu lk 

gS\
d- if'pe caxky
[k- dsjy
x- mÙkj izns'k
?k- fcgkj

44 jkT; dk uke ftlesa lcls vf/kd lk{kjrk nj ikbZ tkrh gSA
d- dsjy
[k- egkjk"V
x- iatkc
?k- if'pe caxky

45 ^^tulkaf[;dh** ds firk fdls dgk tkrk gS\
d- McyMs
[k- ekyFkl
x- QkmdYV
?k- MsfjMk
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SECTION D

46 Which day international day of women was 

observed?

a. 8 April

b. 8 March

c. 9 March

d. 7 March

47 Which act provides for Indian women the 

right to parental property?

a. The Hindu marriage Act

b. The Hindu Succession Act

c. The Family Court Act

d. None of these

48 Gaddi Tribes are found in?

a. Uttar Pradesh

b. Arunachal Pradesh

c. Madhya Pradesh

d. Himachal Pradesh

49 Who gave the 'Hari-Jan' term for Schedule 

Caste?

a. David Hardiman

b. M.K Gandhi

c. Ambedkar

d. Jawahar lal Nehru

50 Who wrote the book “The Untouchable, Who 

are they?”

a. S.C. Dube

b. M.N. Sriniwas

c. Dr. B.R. Ambedkar

d. None of above

51 Which is not included in Indian Varnas 

System?

a. Brahamans

b. Veshya

c. Shudras

d. Sanyas

¥ÙéÖæ»-ƒæ

46 vUrjkZ"Vªh; efgyk fnol dc euk;k tkrk gS\
d- 8 vizSy
[k- 8 ekpZ
x- 9 ekpZ
?k- 7 ekpZ

47 dkSu lk dkuwu Hkkjrh; efgyk dks iSr`d lEifr esa vf/kdkj 
iznku djrk gS\
d- fgUnw fookg vf/kfu;e 
[k- fgUnw mrjkf/kdkj vf/kfu;e
x- ifjokj U;k;ky; vf/kfu;e
?k- mijksDr esa ls dksbZ ugha

48 xn~nh tutkfr dgka ikbZ tkrh gS\
d- mÙkj izns'k
[k- v:.kkpy izns'k
x- e/; izns'k
?k- fgekpy izns'k

49 vuqlwfpr tkfr ds fy;s ̂ ^ gfjtu** 'kCn fdlus fn;k\
d- MsfoM gjfMeu
[k- eksgu nkl deZpUn xka/kh
x- Mk- ch- vkj- vEcsMdj
?k- tokgj yky usg:

50- "The untouchable, who are they" ds ys[kd dkSu 
gSa\
d- ,l-lh nqcs
[k- ,e-,u- Jh fuokl
x- Mk- ch- vkj- vEcsMdj
?k- mijksDr esa ls dksbZ ugha

51 fuEu esa ls dkSu Hkkjrh; o.kZ O;oLFkk esa 'kkfey ugha gS\
d- czkge.k
[k-  oS';
x- 'kwnz
?k- lU;kl
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52 Domestic violence involves 

a. Physical violence only

b. Mental violence only

c. Violence inside the house

d. All of the above

53 India has a census every _________ years

a. 9

b. 10

c. 11

d. 12

54 The basis/bases for inequality is/ are ______

a. Gender

b. Economic status

c. Religion

d. All of the above

55 Which is the largest religious community of 

India?

a. Hindus

b. Muslims

c. Christians

d. Sikhs

56 Pangwal tribes are found in…..........?

a. Bharmour

b. Pangi

c. Nurpur

d. Kinnour

57 Which one of the following tribes are largest 

in population wise ( in Himachal Pradesh).

a. Lahauli

b. Gujjar

c. Gaddi

d. Bhot

52 ?kjsyw fgalk esa D;k gksrk gS\

d- dsoy 'kkjhfjd fgalk

[k- dsoy ekufld fgalk

x- ?kj ds vUnj fgalk

?k- mijksDr lHkh

53 Hkkjr esa tux.kuk izR;sd------------ o"kZ ds ckn gksrh gSA

d- 9

[k- 10

x- 11

?k- 12

54 vlekurk ds D;k vk/kkj gSa\

d- fyax

[k-  vkfFkZd fLFkfr

x- /keZ

?k- mijksDr

55 Hkkjr dk lcls cMk /kkfeZd leqnk; dkSu gS\

d- fgUnq

[k- eqfLye

x- blkbZ

?k- flD[k

56 iaxoky tutkfr ---------------- esa ikbZ tkrh gSA

d- HkjekSj

[k- ikaxh

x- uqjiqj

?k- fdUukSj

57 vkcknh ds vk/kkj ij fgekpy izns'k esa lcls cM+h tutkfr 

dkSu gS\

d- ykgqyh

[k- xqTtj

x- xn~nh

?k- HkksV
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58 Khap Panchayat found in which state of 

India?

A Haryana

B Himachal

C Sikkim

D None of these

59 In social environment, Marginalisation is due 

to: -

a. Different Language

b. Different Religion

c. Minority

d. All of these

60 Do Adivasi live close to the forest?

a. No

b. May be

c. Yes

d. Can't say

58 Hkkjr ds fdl jkT; esa [kki iapk;r ikbZ tkrh gS\

d- gfj;k.kk

[k- fgekpy

x- flDde

?k- mijksDr esa ls dksbZ ugha

59 lkekftd okrkoj.k esa gkf'k;sdj.k ¼Marginalisation½ 

dk D;k dkj.k gS\

d- vyx Hkk"kk

[k- vyx /keZ

x- vYila[;d

?k- mijksDr lHkh

60 D;k vkfnoklh taxy ds djhc jgrs gSa\

d- ugha

[k-  lEHkor%

x- gka

?k- dg ugha ldrs
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